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VALUATION: FACTORS AND METHODS

APPLICABLE TO PRODUCTS, PRODUCT LINES, SERVICES, FIXED ASSET PURCHASES, LICENSING AGREEMENTS, JOINT VENTURES, SPIN-OUTS,

BUSINESS UNITS, DIVISIONS, AND COMPANIES

IRS FUNDAMENTAL VALUATION FACTORS:  IRS REVENUE RULING 59-60
1. Nature and history of the business and industry   Sources: Biz Miner/BVR Industry Financial Reports ™, First Research Industry Profiles and State Profiles ™, Risk Management Association Annual Statement Studies (on Reserve in library), library industry studies (particularly IBIS World), industry association studies, on-line research, primary research
2.  Economic environment   Sources:  BVR Economic Outlook Update ™, library

studies, on-line research
3   Past stock sales and percent to be valued

4.  Public prices of the stock
5.  Earning capacity

6.   Potential for dividends

7.  Financial condition  
8.  Presence or absence of intangibles

DISTINGUISH AMONG CATEGORIES OF VALUE
1. Book Value vs. Market Value:  Book Value is the value of an asset shown on the books of the organization including the annual report.  That value may be at original cost or market.  Market Value is the value of the asset in the marketplace—what a willing buyer will pay a willing seller.

2. Asset value:  The value of an asset (a piece of equipment, real estate, a product line or division of a company, or a company) calculated without regard to how it is financed.  Enterprise Value (EV) is the value of a company’s interest bearing debt + preferred and common equity + retained earnings at market value as opposed to book value.  (Retained earnings belong to the common stockholders.)  EV is often called the Market Value of Invested Capital (MVIC) or Total Enterprise Value (TEV).
3. Equity value:  The book value of preferred and common stock and retained earnings.  Alternatively, it is the market value of a company to holders of common stock (common stock plus retained earnings on the balance sheet).   Preferred stock is also considered equity although it is often treated like debt because the dividend is somewhat like debt interest.  Equity value at market is the price of a share of stock times the number of shares outstanding.
DISTINGUISH AMONG VALUATION DEFINITIONS AND INTENTIONS

Fair Market Value (IRS Revenue Ruling 59-60). “The price at which the property would change hands between a willing buyer and a willing seller when the former is not under any compulsion to buy and the latter is not under any compulsion to sell, both parties having reasonable knowledge of relevant facts.”

Fair Value (Financial Accounting Standards Board—FASB):  The price that would be received to sell an asset or paid to transfer a liability in an orderly transaction between market participants at the measurement date.

Fair Market Value and Fair Value allow discounts for lack of control (DLOCs) and lack of marketability (DLOMs), where the DLOM may be calculated using a protective put or other methodology.  Fair Value is sometimes distinguished from Fair Market Value because it uses Black-Scholes, Lattice Model and other option valuation methodologies.  Some definitions of both insert the word ‘hypothetical’ before the terms ‘willing buyer’ and ‘willing seller to allow for valuation when no buyer or seller is physically available.  Finally, Fair Value can include value to different types of buyers and sellers such as investors, companies acquiring other firms, and others discussed below.

Investment Value: The value of the asset to an individual investor or investor group.

Use or user value: The value-in-use to an owner of the asset.  Sometimes used instead of investment value.

Intrinsic Value:  Often called fundamental value, intrinsic value is found by estimating the present value of future cash flow.
Acquisition Value:  Value, including synergy, to the acquiring company, organization, or person.
METHODS OF VALUATION

I.  INCOME METHOD: THE VALUE TODAY OF A SERIES OF FUTURE FREE CASH FLOWS 


A.   Present Value   =    FCF1   +   FCF2   +   FCF3   +….+    FCFn    +     TVn  



              (1 + i)      (1 + i)2     (1 + i)3           (1 + i)n       (1 + i)n



         FCF   =   free cash flow to capital—end of each time period.




         i         =   cost of capital or hurdle rate.  




         t         =   time, usually in years.




         n        =   the last period of the planning horizon 

TV       =   terminal value.  This is the value at the end of the planning horizon.

1. Free Cash Flow:  Earnings before interest after taxes (EBIAT) + Depreciation, Amortization, Deferred Taxes, Write-downs, and Other Non-Cash Charges – Periodic (annual) change in working capital – Periodic (annual) change in gross investments - Periodic (annual) changes in capitalized operating leases – Investment in Goodwill.  An alternative:  EBIAT – Periodic change in working capital – Periodic change in net investments (after accumulated depreciation, amortization, and other noncash charges) – Periodic changes in capitalized operating leases – Investment in Goodwill.  Free cash flow is that flow of funds available to pay interest, dividends, and principal payments to debt and equity investors.  Free cash flow to equity is that flow available to common stock investors, i.e. common stock dividends or (FCF - after tax interest -principal repayment - payments to preferred stock).
2. Cost of Capital:  Accounts for investors’ liquidity preference, future inflation (if FCF is in current currency), maturity risk, market risk, leverage risk, unsystematic company risk, and country risk (if outside the U.S.  The hurdle rate is the capital cost for business units, products / product lines within the company and will vary as risk varies among similar investment opportunities.  The weighted average of business units’ or product / product lines’ hurdle rates = company cost of capital.  Cost of capital is incremental and future oriented.  Past (sunk) costs matter only as a basis for forecasting future costs.  
3. Terminal Value:  The value of the asset(s) at the end of the planning horizon.  Discount the Terminal Value back to the present to obtain its present value.  Here are two common ways to determine the terminal value. 

a. Market Value Method:  FCFn * (Asset Value / FCF of comparable companies).  (Use of * denotes multiplication.) Or use other market methods.

1.  As a going concern.

2.  Liquidated value of the assets minus or plus capital gains tax.

b. Gordon Growth Model:  FCF(n+1)  / (Cost of Capital – % expected growth (g) in FCF from n+1 onward forever).  Also FCFn  * (1+ g) 

B. Primary strength:  Provides quantitative analysis of future risk and reward.  A thing is worth what it will earn over time discounted (reduced) by a factor “i” to account for risk, expected inflation and investors’ liquidity preference or “real” rate of interest.                

C. Primary weakness:  Numbers must be forecast.  Gordon Growth Model meaningless if growth is nearly as great or greater than the discount rate.  Also, the Gordon model is infinite.  It is not likely that the company will continue to have the same growth rate or even exist “forever”.  Company FCFs tend to regress toward the mean.

II.  MARKET VALUE:  THE CASH AMOUNT A HYPOTHETICAL WILLING BUYER WILL PAY A HYPOTHETICAL WILLING SELLER IN A FREE AND OPEN MARKETPLACE, BOTH HAVING KNOWLEDGE OF THE RELEVANT FACTS, AND NEITHER BEING UNDER COMPULSION TO ACT (USUALLY CALLED “FAIR MARKET VALUE” OR FMV).  OTHER MARKET VALUES HAVE BEEN DEFINED--INVESTMENT VALUE, FAIR VALUE--WHICH DEPEND UPON THE MOTIVES AND SITUATION OF THE BUYER OR SELLER.  SYNERGY PLAYS AN IMPORTANT PART OF OTHER MARKET VALUES.
A. Calculate market value of the common equity or the enterprise value (debt + equity) in several ways:  

1. Net income per share (earnings per share) of the subject company * number of shares outstanding * price per share of the subject company OR Total net income * price / earnings ratio (price of the stock divided by earnings per share).  This gives the equity value of the company assuming the company is public.  Other ratios such as Value/EBIT may be used.  See below.  
2.  Past sales of the company stock assuming the sales were recent, of similar size in percentage terms, and were sold at arms-length.  It is necessary to review the past stock sales to adjust for synergy values not captured by the valuation being done now.   
3.  Public Comps (guideline company method): Example: Ratios of comparable public companies * comparables of your company.  Price/Earnings, One Year Forward P/E, Enterprise Value/Sales, Market/Book, and Value/Selected Earnings are examples.  Take the median, average or weighted average of the other companies making up the industry.  Do not include your own in the calculation.  Medians are used instead of averages to remove data of companies that are outliers and medians are generally preferred because of this. Companies being compared should have similar risk characteristics to the company being valued.  This is why companies in the same industry usually make the best comparisons.   If the company is in a single industry, the comparables should be “pure play” companies—companies with 75% or more of their sales in the same single industry.  The courts like to see at least six to ten comparable pure-play companies.  Search for companies using SIC or NAICS codes.  To value “pure play” divisions of companies that are in several industries: use P/E ratios of “pure play” companies * subject division’s after tax earnings and similar ratios.  Analysis of divisions is sometimes called sum-of-the-parts analysis.  There may be specific comps that vary among industries. 
Note:  Earnings or earnings per share may mean profit after taxes (as above), earnings before interest and taxes (EBIT), earnings before interest after taxes (EBIAT), net operating profits after taxes (NOPAT), earnings before interest, taxes, depreciation and amortization (EBITDA), free cash flow (FCF), or other ratios called multiples. When using EBIT, EBIAT, NOPAT, EBITDA, or FCF as “earnings” the proper formula is Enterprise Value / Earnings, or V/E, not P/E.  Enterprise value is the total value of interest bearing debt, preferred stock, and equity, i.e., the Market Value of Invested Capital (MVIC).  Make sure that the earnings is the same earnings as the price / earnings ratio calculated from comparable units. Ratios at the time of the transaction and ratios expected the following year are used.  Often the market value to book value ratio is used.  The PEG or Price/Earnings divided by earnings-per share growth is also used to determine whether the company is fairly valued.  A PEG ratio greater than one indicates the firm is undervalued. 

4.  Transaction Comps (comparable transactions analysis method):  Using multiples (ratios) at which transactions in the industry have been announced or completed * comparable values in your company.  Unlike Public Comps (above) these transactions include a control premium (ownership transfer of 51% of the stock or more).  Comparable companies may be public or private.  The courts like to see six or more comparables where the “companies occupied similar positions” within the industry based at least on operations and size. 
5   Price of comparable products / services / real estate if valuing individual assets instead of companies, joint ventures, or divisions.  
B. Primary strength:  in a free market economy, this is the definition of value.

C. Primary weaknesses:  Determining comparable units.  As a rule of thumb, companies with 75+ percent of their business in the same market are comparables. There is an internal logical inconsistency—the market (comparable) price may not be “right”.  There is no exogenous measure of “right”.
III.  ASSET METHOD:  ASSETS – LIABILITIES = EQUITY

A. Net Worth calculated as

1. Assets at balance sheet value (book value) minus Liabilities

2. Assets at market value (or replacement value) minus Liabilities at market value
3. Assets at liquidation value minus Liabilities

B. Emphasis on valuing assets

1. Cash and equivalents

2. Accounts receivable

3. Inventory

4. Fixed assets

5. Other tangible assets

6. Intangible assets:  patents, copyrights, company image (including trade and service marks), customer and supplier relationships, licensing agreements, trade secrets, employee know-how, good will, etc.)

C. Primary strength:  tangible assets are real, with a resale value in the marketplace now.

D.  Primary weakness:  an organization is more than the sum of its assets.

IV.  ADJUST THE VALUE OBTAINED BY THE ABOVE THREE METHODS FOR THE FOLLOWING AS APPROPRIATE:

A.  Cost of an audit if the books of a company, joint venture, division, or product line are unaudited.  This can be very expensive and is often avoided in small company transactions.
B.  Management salaries and competence, insurance costs such as key person insurance, etc. 
C.  Costs of due diligence, planning, and integration.
D.  Total Cost of Equity Including Unsystematic Risk.  Unsystematic risks include potential lawsuits, unanticipated gains, etc.  If you acquire the assets of a company instead of its stock you are less likely to face legal and other consequences.  The buyer usually assumes these and other unsystematic risks (upside and downside) if the buyer is not well diversified.  Unsystematic risks may be calculated by subtracting the systematic risk premium from total company risk (TCR).  Find the TCR for a publicly held firm by first finding a total beta: dividing the company standard deviation of return on stockholder equity (ROSE) by the standard deviation of the market’s ROSE.  Multiply this beta by the market risk to obtain the company specific risk.
E.  Country risk.  For many reasons, poorer countries and developing nations face systematic and non-systematic risks greater than those in developed countries.  Attempts to measure these risks and adjust the discount rate or the expected free cash flow have been made, but are often seen as more subjective than objective at this time.  
F.  Control premium.  Fifty percent ownership of a company commands a higher price per share than a lower percentage ownership because fifty percent gives the owner control of the company.  A minority share discount should be applied to the valuation if less than 50 percent is involved.  The minority discount is the inverse of the control premium: 1 - [(1 ÷ (1 + control premium)].  Often referred to as level of value.  
G.  Discount for lack of liquidity (DLOL). DLOL has to do with the time it takes to sell an asset, the transaction cost, and the effect on the market price. It is usually harder to sell a large block of stock than a small one.  According to the Valuation Handbook (p.483) liquidity has to do with the number of potential buyers, the ability of the market to absorb large volume, the speed at which the transaction can be completed, and the “ability to absorb a large volume of trades without moving the price.” Source:  Valuation Advisors' Lack of Marketability Discount Study™
H.  Discount for lack of marketability (DLOM) (ease of sale). The shares of public companies can be sold immediately.  Non-public companies are more difficult (often take longer) to sell, hence may have a DLOM.  This is particularly the case if there are not “sufficient available persons able to assure a reasonable price in light of the circumstances affecting value.” (Couzens v. CIR, 11 BTA 1164 (1928).  There is significant debate currently about the size of this premium.  According to the 2009 Valuation Handbook (p. 476) marketability declines as a function of stock characteristic from (1) registered stock in an exchange-listed, publicly traded firm with no limits on transfers, (2) registered stock in an exchange-listed, publicly traded firm subject to restrictions (example, Reg. 144 stock), (3) unregistered stock in an exchange-listed, publicly traded firm, (4) unregistered stock in a large closely held firm, (5) unregistered stock in a small firm that is unlisted. The DLOM of a controlling interest is less than that of a non-controlling interest. The DLOM and DLOL are related and are not applied as a part of the minority share discount (control premium) when valuing minority shares.  Instead, the control or minority discounts should be applied first; then, the DLOM discount percentage is applied to what is left. The distinction between DLOL and DLOM is that an illiquid asset may be marketable but not marketable quickly or without losing value.  Valuation Advisors' Lack of Marketability Discount Study™
I.  Demand / supply for the item or company and speculation.  Is the company going into bankruptcy/liquidation?  Special valuation methods apply to bankruptcies that are beyond the scope of this document.
J.  Excesses or insufficiencies of assets not already priced in the market.  Excess assets may include more cash than needed to operate the business, excess real estate, and non-operating assets such as investments and advances.  A company with lower-than-required inventory, too few fixed assets, etc. will sell for less because the buyer must supply these.  The after-tax value of underfunded defined benefit pension plans are a liability also and must be deducted from the final company value.  Overfunded plans add to the value.
K.  Terms of purchase.  Cash now is generally preferred to shares of stock or cash over time, other things equal.  Usually, valuations present the current cash worth of the entity.
L.  Synergy.  Synergy represents the buyer’s gain over and above the stand-alone value of the acquired asset.  Combining two organizations may result in increased value due to efficiencies, increased effectiveness, or both.  In practice, the seller usually gets most of the synergy value.  Compare stand-alone value with value to acquirer.
M.  If equity is the only factor valued, the current market value of interest bearing debt and preferred stock (if any) must be added to obtain enterprise value.

N.  Tax implications.  For example, net operating losses (NOLs) from previous years (if any).  The acquiring company can carry losses backward for two to five years and forward for up to seven years, subject to annual caps.  See Section 382 of the Internal Revenue Code for limitations to this option.
O. If there is in-the-money options or warrants outstanding, their value must be calculated by the Treasury stock adjustment method and added to the basic equity value.   If the average strike price of these is less than the closing price of the stock, assume that they would convert.
P, Impact on acquiring company’s earnings per share.  A negative impact will reduce the attractiveness of an acquisition.

Q.  Dual classes of shares.

     R.  The value of assets and liabilities not associated with the operations of the business.  Generally, businesses are valued as operating entities.  Such assets as excess cash, loans to employees, fixed assets not involved in the operations of the business, and intangible assets not involved in the operations of the business must be valued separately if sold with the company.  Additionally, off-balance sheet debt, loans by employees to the company, and similar liabilities not otherwise accounted for must be subtracted from the value.
     S.   Size.  If comparable companies are of different sizes than the subject company adjustments must be made because size affects risk.
     T.  Growth.  If comparable companies grow faster or slower than the subject companies adjustments must be made because growth affects value.

    U.  Regression to the mean.  The subject company’s beta must be adjusted since, over time, company risk tends to move toward the mean of the proxy variable (such as the S&P 500).  Two formulas are available for this:  the Blume adjustment and the Vasicek adjustment.

     V.  Other
